Od &F

A& & Al A

Sx: EXEE
B HOS BTE(REUNSIHL/NHUE A
Chl: dXEES SAIRE (S H )
SN - BB B - NBAR - BYS Ofl Aot daz MimE==
0l &t
EXNEE 3,475,641 2,540,760 934,881
= 763,196
& 7,400
Al 2,705,045
MBS BRE(2EY XS/ XALUZAl) 1,685,700 672,900 1,012,800
= 440,000
Al 1,245,700
SMEHLDZ SAIRE 1,685,700 672,900 1,012,800
= 440,000
Al 1,245,700
28 22| 219,700 672,900 A453,200
201 LBt AH| 47,700 48,900 A1,200
01 AFR2teld| 3,100 3,100 0
OZB2HEBAAE E2H EH 2
200,000& = 3= * 13| 600
OZB2HEBAAE E2H X 2
150,000& * 43| = 1CH 600
OZ2HEBAAE E2H KAES
600,000& = 13 = 1CH 600
OEXIO|SE21R DIAMA OIM & 22X 7
250,000& * 23] 500
OEXNOIEHER 2IEZE 21FI| 43 2
100,000 * 23| 200
OEXOISAHER 2IALZE ZHEEIH EY
2! 200,000 * 33| 600
02 S3249| 44 600 45,800 A1,200
OESALSEIREA|AEI(KRAS) RAI22] 23,600
—SEASSHTRAIAL DB X2
20,000,000& * 14! 20,000
SSHEEBREAIAE T2 S22
300,000& * 12& 3,600
O=I)ISUHEZSSEMA W & HV SX 2
300,000,000& * 7/100 21,000
401 AEH|LS20HY| 172,000 624,000 452,000
01 AlI&BI 172,000 624,000 A452,000
Oz Y XICIANAEE S AUtAlAt
22,000,000& * 14! 22,000
OXIEE DiBtol X (X7) HH| AFY
120,000,000& = 14! 120,000
Oz 228 A= 10,000,000& * 1Al 10,000
OB2HEEAIAE Jls HH
20,000,000& * 14! 20,000
(2)EZ2LXIGIAILA ST AL 1,466,000 0 1,466,000
= 440,000
Al 1,026,000




25 EXEE1
M B3 BRAF(ZELXSEINL/XSLEAI)
Chel: MAEEE CAIRE (=I5
S - B ERI(SH) - MISAY - BAS Of ko cla SimE==]
. (=2 - S/ == 0:"&.0_‘” WsSa
401 AIEHIZ 048I 1,466,000 0 1,466,000
= 440,000
Al 1,026,000
01 Al&HI 1,466,000 0 1,466,000
OXIGIAEE FE+F HAAS
1,466,000,000& * 14! 1,466,000
= 440,000
Al 1,026,000
KNEHH(ZEL XML/ XLSLEZAI) 1,699,765 1,785,720 85,955
= 323,196
& 7,400
Al 1,369, 169
K&zt 1,439,218 1,629,539 290,321
= 259,699
& 7,400
Al 1,172,119
EX0ls Hel 82,000 82,200 A200
201 L2 | 82,000 82,200 A200
01 AtR2teltl 71,200 71,200 0
OEXNOIs &IH Mal R0l
50& * 4& * 4,00004 800
OXIHDIA HYEH|(LE SADI) 22
500,000& = 1CH 500
OXNEZSFA D ZAMR SRUASH
100,000& = 14 1,400
OX&EI|IES2 BH= 67,000,000& * 1A 67,000
ONEEZIR 222 2
1,0002 = 1,50000 * 13l 1,500
02 =23l 10,800 11,000 A200
OXEIISSHLAAE B A2
8,000,000& * 14 8,000
OXNEIIFSSHAAIALE S/W K2
150,000 * 12& 1,800
ogzesll =2l € |X 500,000& = 2CH 1,000
NEMA EH22| 79,208 89,786 A10,578
101 21244] 16,122 15,348 774
04 JIZtHI22 RS2+ 16,122 15,348 774
ONEEH &MpH3 o1zl
73,2803 » 29 * 110 16,122
201 Let2ZH] 33,086 44,438 11,352
01 At2teld| 16,000 16,000 0
OXFFATH EEHZXI(A0) 2
250,000& * 8EfA 2,000
ONNMHMNTH 28 B2E 23 2
2,000,000& * 1MIE * 13 2,000




SN

EXZEE

Hu: KR (YN N/ AL Al
el Iz (Sl @)
S - FHE - 9l(SH) - NIRAY - BaS Ol Akt Dl HIDE2
OXNEEATH ZfZele EH(44)
1,200,000& » 10H * 23] 2,400
OXNEFED|EE L= 96,0002 * 100& 9,600
02 3223l 17,086 28,438 11,352
OXNE=SHE2E HEX 130,000& * 100& 13,000
ORSUSEISRAIAE IHIESAS 3 WSR2
173,800& * 12& 2,086
OSIDI(EZAHI0IE) SXE+H]
1,000,000& * 2CH * 13] 2,000
308 RHXISHXSO0IH 30,000 30,000 0
1 S| 2SOICHEH B A X EAIS ] 30,000 30,000 0
OXNEZI|IEE &2
15,000& * 2,000& 30,000
S ARH Hs & NESH 22| 32,434 26,660 5,774
101 CI244| 16,122 15,348 774
04 JIP 22X SEs 16,122 15,348 774
ORSAMLRANSI| SEXXY 1Y
73,2802 * 2% x 110 16,122
201 Let2ZH| 16,312 11,312 5,000
01 At22teld| 10,360 5,360 5,000
OSSHSEEXY PE0 SHAL S
30,0002 * 5% * 63] 90
OXNEQIA HMH QI 900,000& =* 23| 1,800
OXNHQIA g5 SAEX 7L
15,0003 * 122A « 123 2,160
O0IZ)| 2E U 8% 29
50,000 * 2CH * 53] 500
ORSMLRANE)| SO 28t SEEXY
sSEAA HH 1,000,000& * 52| 5,000
02 23222l 5,952 5,952 0
ORSHALARAONSIIEERIY SEE U5
2,480 * 1,200 * 23| 5,952
E2HEFA ALY 201,022 194,841 6,181
101 QI1244] 17,588 16,743 845
04 JIZtHIZ22 RS E+ 17,588 16,743 845
OHSHS T TAF Y HH| 1Y
73,2802 * 2% » 120 17,588
201 LEet2 2| 15,798 16,498 AT00
01 At22teld| 13,550 14,250 AT00
OEZ2HEFAAY 4,290
—FATB2ALAAE R
500,000& * 12| 500
—MEASH 226 SXE4
800,000& = 13l 800




Sx: EXEE
H: HSE(FEUK| AN/ NHLTA)
SETEPNEETT (Erol: &)
SN - BB B - NBAR - BYS Ofl Aot daz MimE==
0l &t
—MZ=AEH E2H ZX| 60,000& * 152 900
—MZ=AEH ZE2H 23
160,000& * 3= * 33 1,440
—ASHS T IAHIAHZE HEEZH SX2eld]
500,000& * 13] 500
—HEIEZ2H 2Y 150,000& * 1JH 150
OE2HZTA EBS MIF 6,870
—=28 S8 60,0002 * 10JHA * 13] 600
—CRATA 2P2SE
1,000& * 2,00000 * 13| 2,000
—8XE oHHKIE 2,500& = 1,6000H * 13l 4,000
—=2)P|EZRAEANNEHS 2222
P * 1,50004 * 13] 135
—ANFANE EE2IES
90& * 1,5000 * 13l 135
OASHUSE SOMHA S ARKA S0
50& * 65 * 1,0000H 300
OAEE2te] HEHHZ2F HS2UENS OHHE
P * 2,00021 * 18] 180
OXNYRARAS E&xH 70,000& * 5% = 13| 350
OFATSIAS] BA +g
70,000& * 6YH * 23| 840
OALIE F=AEB2ALANAE SHER2
30,000& * 2CH = 12& 720
02 =24l 2,248 2,248 0
OE2HYEFA XHoHiE JIIR=
1,000& « 2200 = 12€ 264
O&2Y 20 & HE Iz &5 QRS
2,480&3 * 200 * 23| 992
OEZHFA MNF=A DX 2S5 QER=
2,480% * 200 * 23| 992
206 MEH| 12,000 11,300 700
01 MHZHI 12,000 11,300 700
OE2HFA ENAIY 12,000
—AdE BEEE P2Y 1,000,000& * 18] 1,000
—AlE= dE BIAIAIER] &
1,000,000 * 22 2,000
—ARHE HER HSHSE(EHNIS) 2L
6,000& * 7500H 4,500
—slegaE ASHST g
6,000& = 750H 4 500
308 XXIHMSOIA 28,476 24,950 3,526
11 2| 2S U UISHE A S EAIZHI 28,476 24,950 3,526
OFAFL 2 AIAE X2t 18,616
—GIS S/W |Xl2el 2,400,000& * 14 2,400




SN

EXZEE

BE: NN (RELXANL/NLUETA)
ool X= el (Sr9): @)
NEs -
A - B SRA(Z) - MRAY - BES Ol &kt 01l AkoH HnS2
—FAETELINLS(KAIS) S
16,216,002 * 141 16,216
OYUREL PE U FABI|ZE SRV
9,860,0002 * 14! 9,860
401 AlZHI LS TH| 127,160 125,350 1,810
01 A& 127,160 125,350 1,810
OZ2YE S &7 2 K2 31,100
AR 2 A 200,002 * 5074 10,000
—glea cRun Y|
200,0002! * 257} 5,000
~HAFE JFHSH 84X Y |A
90,0002 * 5074 4,500
—XIHOHHE SXI2I2] 100,000 * 314 3,100
—HASAE TREZFL QHUKIE SRR
100,008 * 852 8,500
OASHBT HX| L B2
10,0002 * 25001 2,500
OMSFAT 83X & X2
62,0002 + 804 4,960
OS2: T2 HAl SA ¥ SX22
60,0002 * 150742 9,000
OBtOIZRIS B0 S2em &x|
21,600,0002 * 142 21,600
OS2YFEA FASAIM AR BLFA 58,000
—ASHUSH MEZAL 36,000,009 * 14 36,000
—CRYB FMAIA 22,000,008 * 141 22,000
BREED 16,000 14,068 1,982
2 16,000
101 21218 15,000 13,000 2,000
2 15,000
STEI = =TS 15,000 13,000 2,000
OX=IIZSHLSE Hy| ol
10,000,008 * 14! 10,000
2 10,000
OSSMASAOME)| SEXXY 2R
5,000,008 * 141 5,000
2 5,000
202 it 1,000 1,068 ABB
2 1,000
ENE] 1,000 1,068 ABB
OXIXIIZSFAE L EXI0ISK ZHICHA BXIFA|
1,000,002 * 141 1,000
2 1,000
(2)NHYEAAIL =2 243,699 338,785 195,086
2 243,699




SN

EXZEE

mE: NNEE(RELXNL/NSUEA)
S R (9l @g)
= =zH . C}O|( S S A HAS AHOH HEE HIm=2+
201 LBr23H| 16,279 15,753 526
= 16,279
01 AtR2elt| 16,279 15,753 526
Od8¥Eote=a 50,000& » 702 = 2o X 7,000
= 7,000
O=F0I&8H3| 2UHIS 1,580,000& * 14! 1,580
= 1,580
OSZ20iAld| 7,000& * 64 « 6 * 128 3,024
= 3,024
OJIEE &=H| 4,675,000& * 14! 4,675
= 4,675
403 X HMSAHE01H 227,420 0 227,420
= 227,420
02 )| 2SI =X2AE AL 227,420 0 227,420
OXIEMMEA S5 227,419,500& * 14 227,420
= 227,420
(D) E2HFAAY 20,000 15,000 5,000
& 4,000
Al 16,000
401 AIEHIZL 2B 20,000 15,000 5,000
& 4,000
Al 16,000
01 Al&HI 20,000 15,000 5,000
OmezET &1 20,000,000 * 141 20,000
= 4,000
Al 16,000
(E) YT AL ELZLMEGIEX 13,500 10,000 3,500
= 3,400
Al 10,100
401 AI&HIZL0HH| 13,500 10,000 3,500
& 3,400
Al 10,100
01 Al&EHI 13,500 10,000 3,500
ORINEHSE B2l METAIAL
3,500,000& * 14 3,500
& 1,400
Al 2,100
O=IIKEHS T XX 2A
10,000,000& = 1A 10,000
T 2,000
Al 8,000
K ETHZEAL AF 751,355 758,199 AG,844
101 Q1244| 12,605 11,999 606
IRl EEU=T=P 12,605 17,699 606




SN

EXZEE

HA: UESE(ZEWKOINL/ N HLTA)
chel: X|=z2l (Erol: &)
S - B ERI(SH) - MISAY - BAS Of ko cla SimE==]
. (=2 - S/ == 0:"&.0_‘” WsSa
OXEMEAAY 212
73,280% * 2% » 86 12,605
201 Let2ZH| 138,750 146,200 AT,450
01 At22teld] 131,190 138,640 ANT,450
OXIETHZAAIS X7 EAIG A 2
9,000,000& * 34! 27,000
OXIHTHZAL CHHEXIEHRZE) ME L &X
1,000,000& * 302 3,000
OXIETHZAIAIE &8 6,120
—MESHEX 20 S 120,000& * 163 1,920
—XNEHEANMNGE E2E WH
1,000,000& * 23| 2,000
—XIBETHEAIAISY CHAHE S WA
1,000,000& * 12| 1,000
—XIBTHEAALY S0 HIZ
60,0003 * 10JHL * 23] 1,200
OZHZER—ES = 70,0003 = 78 = 33| 1,470
OXNEMHEARIAS =5
70,0002 » 5% * 33 1,050
OZFEote2 50,0002 » 7002 » 2| 70,000
O&H EAEXI(A0) 7 250,000& * 102tA 2,500
OLH EHEX(Z20AHEEE) Y
20,000 * 259FA 500
Ozel 248 226 23 79
1,600,000& * 1MIE * 23l 3,200
OXNEMEA ZEH £
400,000 * THIE * 23] 800
ONEMZAL BHEXE HUSE U 428 72
3,000,000& * 14 3,000
OXIETEZAL AFHXIZ JI1EE &X
30,000& * 85& 2,550
ONEMZAN WRUQIH SeEe 242
1,250,000& * 8IH2 10,000
02 E524H| 7,560 7,560 0
OSSZHI(NSSEED|) FAE=H
3,780,000& = 2CH * 13 7,560
301 LeIBEF 600,000 0 600,000
12 JIEtE2 43 600,000 0 600,000
OXIETHZAAIY Z&EZ  600,000,000& » 14! 600,000
Xotzte| 260,547 256,181 4,366
= 63,497
Al 197,050
fSatal| 39,720 39,720 0
201 LBt 34,720 34,720 0
01 At2teld] 16,960 16,960 0




Sx: EXEE
B RSB (REUK L/ NALEAI)
cl: XDp2te| (S H )
SN - BB B - NBAR - BYS Ofl Aot daz MimE==
0l &t
OZEIEIIA HE =2 1,000
—INLEE2 ME ENHAEX 2842
200,000& = 53| 1,000
ONLREZ2 IHA =2
1,500,000& * 73| 10,500
ONeREZ st 200,000& * 53] 1,000
OFSA HellH AN S A |]O
802 « 1,0000# = 1= 80
O SAE NG X AR MIZ & X 2
30,000& = 100H 300
OFSAEINY SAHA EH| 1,280
—2SMSINY SAHA WE ZAE
250,000& ~ 1 = 23| 500
—S2SASSE SAAF =10 HIE
6,000& * 120 720
—2SMBNY SAHA s S8 HE
60,000 * 1JHA * 13) 60
OFSAEHE A IFAl EES 722
18,000& * 1000HA 1,800
ORSAEIHYE A RI2E MIE
20,000& * 502 1,000
02 23244| 17,760 17,760 0
ORI ESAIAE &Y L ATENH FALS
70,000& = 20CH = 12& 16,800
ORIKAHEA|AE NEF MH L ATEYN
SN2 80,000& = 1CH ~ 12& 960
303 L&A= 5,000 5,000 0
01 ZAZ 5,000 5,000 0
OSS4 A} IBalD TAS
2,000,000& * 23] 4,000
OEXIHeNGIIF 01=2=3H Al L SIHAHE
FIetAID TARZ 500,000& * 23| 1,000
(2) ML Z2AIXIDFRARAA 220,827 216,461 4 366
= 63,497
Al 157,330
101 ©124d| 65,952 62,784 3,168
04 JIZtHI2 2 XS24 65,952 62,784 3,168
ORIIIBEE JA QA L EXELIA 2F
73,2803 * 6 = 150! 65,952
201 LBt2AH| 149,115 147,917 1,198
= 63,497
Al 85,618
01 AFR22t2ld] 149,115 147,917 1,198
QNG ZAIXII BEE=EE 126,994
—&J|2 39,6002 = 161,815% X|/60E X 106,798
= 53,399
Al 53,399




SN

EXZEE

B BT (REUK AL/ AL A
ool xot2el (Sr9): @)
o ) - - NEs
S - 3 - R(SH) - MRAY - BAS Ol &kt 01l AkoH HnS2
—+AIE 39,6002 * 3,002 * 50% * 30% 17,820
= 8,910
Al 8,910
—oHHE L OIQNBE LB44R
39,600 » 1202 X| » 50% 2,376
= 1,188
Al 1,188
OENSH ZAE U 2HEA S0l
50,0002 * 308t~ 1,500
O=AtH e 2X12 SO 50,0002 » 30=A 1,500
OMLZAIXIF MBEN R0
50,000& * 30%A 1,500
OXIDEEAF OHH 22t 2H 2D &4 K
0,0002 * 134 * 23] 1,560
OSSMIIHBAANG] Baizg
70,0002 » 1298 * 63| 5,040
ONIIEe Z2E EX(A0) 2
35,000& * 508 1,750
ORI=o B2 23 2ol(am)
200,000& * 20& 4,000
OXIISHERE Sz
500,000& = 1CH = 43l 2,000
OIS MAXE eiS (D 7l
247,002 * 14! 247
OS20KAH| 7,002 * 641 % 6 + 128 3,024
202 Odd| 5,760 5,760 0
01 3LHOAYI 5,760 5,760 0
O=UHI 20,000& » 4% » 12 « 63 5,760
SHE2HZH(EXIZEW) (IIEHIIE) 90,176 82,140 8,036
Jl2&| 90,176 82,140 8,036
Jl2&| 90,176 82,140 8,036
201 B2 22,016 21,240 776
01 AtSR2teld] 22,016 21,240 776
O=SAEX 2 16,0003 * 16=A + 123 3,072
OS20KAH| 7,0002 * 64 + 16 + 122 8,064
OEIIE 100,002 * 122 1,200
OARD AT 50,0002 * 122 600
OARR 44| 8,120
—=AD| 22| 1,000,000& * 1CH 1,000
—Zgly 2l 100,000& = 4CH = 50/100 200
—=SAD| EH 200,000& = 52| ~ 104 1,000
—TRIE EU(S%) 200,008 * 53 * 4CH 4,000
—TRIE EU(22M) 200,008 * 53 * 104 1,000




D EXNEER

D AN RHIH(EXNEZD) (JIEHIIE

ISIEEEN (el &)
o . Crol(= ool T P L =
SA - FH . C2(32) - MISAIY - BAS At o rod AImE=ST
—PC ==cl 100,000 = 16CH * 20/100 320
—JIEt ==/l 50,000& 600
OJIEIAIR 22l 5,000& * 16Y 960
202 (44| 63,360 56,700 6,660
01 =LHOAYI 63,360 56,700 6,660
OO 20,0008 * 162 * 122 46,080
O=2 0| 90,0002 » 16 17,280
203 P F=&t| 3,600 3,000 600
04 FN2EHRFAHI 3,600 3,000 600
ORM2IERFE| 300,000 3,600
204 X2 42| 1,200 1,200 0
01 S HP=SHAH| 1,200 1,200 0
ORZALLHAY| (ENTSUT)
100,000& » 1H 1,200






